52" e [2X}A]] (&2F)X(RAF)E LolE7lS

oSN (1)

o
o

01 06x4= o8 71x oz Axe AY
Ut} [ ot dure =2 HUose.

D 0.6x4=0.6+0.6+ 4] |

S

0.61x5
2 06< 010 | MYy BT B Al LA

0.6x4% 010 | |48 | &g Ao 3HETHSH,
3 Y,

0.1¢] % | [Hojmz 0.48 X 4

0.6 4= Yyt 483 401 T2 %k 20001 U7

0.482 42 FZ 20 =7,
X

B8 06 xX4=—"+ D D D ( )

i

=]
I“m_UI
1!1
AL
=
U
-
kl
2
s

=¥=S .

02 Axksl BAS.

o oy 05 714 #e 49 b 2 5ol F& 7ol wAl

0.3 ) 6 0.8

0.24 5 06 A #ol=e] Aol 0.2me]a 2ie] Zo]
' = A Ele]ze] Zolo] 128 7]

doj= H melvksr?

Mirae®



I
A

52 e [2AN] (2P)X(REFIE dolEzte
o ) (1)
E== ) St W oW OB

01 06x4%5 98 7b4 Wwyoz A4 AY
Uuh O gl dge 58 Ayods
B 0.6x4=06+0.6+ 06 |+ 06 |

02

03

[z
#2062 0.0 | 6 QYT
0.6x4% 010 6 A8 b |[Be
% U,
0.10] =% | 24 plojm=
0.6x4= 24 |9t}
Lo x[4]

W 3 0.6 X4=——X4=
0-64 10 10
=[]
ED 06x4+= 0.19 /M5, B9 34 58 o]gsto A
ek S oslsyTh
Arbs] BHA Q.
(1) 0.9X7=6.3
(2) 0.35X3=1.05
9 9x7 63
1 e =2 Y=
ED (1) o9x7 10x7 0 0 6.3
35 35%3 105
2 = — = = —=
(2) 0.35x3 100x3 100 100 1.05
Wzl F fro) & HEoAe
0.24 5
1.2

ED 024x5=12
A5 ohe) whAE APe] 0& Aekske] vehd 4
JHUYL 024 x5=1.20=1.2

05

06

AR W AR Fo} o5
Ut 2% wd R v @
0.61 X5

0.67+52 B o2 of2lst 4 glount
HIHe 3 A S 7HEH,

0.48 x4

A8TF 42l T2 0k 20001 UTH
0,482+ 491 Z& 20 HE7HeH,

( A )

5]

= =
T2 st 2

HIZ2A| 1X|7|

[

0.487} 49] 5220 =
A7) o,

0.48% 49 w2 2
=7t .

ED Adel7t 3% Basy.

483} 49] s3o] °F 2000]=2 482] 0.01w]2] 0.483} 49]
Fe 2009 001Uk mebd 0483} 49 Fe 20 4
w7} ohiet 2 FEt Hun,

7P A2 ok P 2 o wE Tl BAlL
0.3 5 6 0.8
( 1.8 )
ED 03<08<5<6ol=2 g e FE 03, 713
2 S 63Ut weEd b g fe by 2 S F
& 03X6=1.8%4t}

4 Blo]ze] Aol 0.2molw 2jie] Aol
= A do]ze] Zole] 1201 ur). #te]
Zolx= 2 melrtar

( 2.4m )

ED (2]29] do)=(A go]Z o] Ho])x12
=0.2x12=2.4(m)

Mirae(



